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1. EcAv oTNyCTUTb PE3UHOBBLIN MAYUK, TO HEPE3 KaKOe-TO BPeEMA OH
nepecTaHeT OTCKakMBaTb OT MOAa. [1py 3TOM, ero noTeHuUMaAbHaA
SHEPrMA YMEHbLUMAACH, @ KWNHETUYECKAA HE M3BMEHMAACHL. Kyaa
AeAaTb aHeprmna?

2. VInbAa copocua Mmay Mmaccon 1Kr c baaKkOHa, KOTOPbIM HAXOAUTCA Ha
BbicoTe SM. OnpeaeAnTe CKOPOCTb MAYa B MOMEHT, KOrAa OH

KOCHYACA 3EMAMN.

3. AGCOAIOTHO YNpPYrnm MAY ckayeT oT noaa. [locTtponTte B desmos
rpadrKkmM ero KUHeTUYeCKOoM M NOTEHUMAABHOW SHEePTUmn?



CKOABKO HYXXHO 9HEPTUU, YTOObI OTTALLUTL OOBEKT OT 3EMAU Ha
beckoHeuyHoe paccToaHue? BoiBeaeTe dpopmyay.



AoMauwiHee 3aapaHUue

1. MAa4 nopHAAM C 3€MAUN, OTHECAU HA BEPXHUIN OTa»
MHOTFO3Ta>»XHOro AOMa, MOCAE Yero COPOCUAM Ha 3EMALIO U
AOXAAAUCDH, MOKa OH HE OKa>keTCA B MOKOEe Ha 3eMAe. HeMy paBHa
PasHMLUa MOTEHLMAAbHOMN SHEPTUM MAYaA B HAYaA€e U B KOHLE 3TUX
AENCTBUN?

2. 4YeMy paBHa NnoTeHUMaAbHaA aHeprma Mada, maccon 1kr,
HaxoaAweroca Ha BoicoTe B 1 meTp Hap semaen?



3.

A chunky tree frog jumps from a tree in an attempt to catch a small, speedy fly. Both are in mid—-air and
have the same kinetic energy. Which of the following statements is true?

a. The fly has a greater speed than the tree frog.

b. The tree frog has a greater speed than the fly.

c. The fly and the tree frog have the same speed.

d. The kinetic energy cannot give information about their speeds.

e. The direction of the fly and the tree frog must be taken into account to compare their speeds.



